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HE 1 E—Y—ZENHT
motor25 = GPIO.new(25, GP10::0UT)
motor32 = GPIO.new(32, GPIO::0UT)
motor26_pwm = PWM.new(26, ch=0)
motor33 _pwm = PWM.new(33, ch=1)
motor25.write(1)
motor32.write(1)
motor26_pwm.duty(0) ZXE—F 100%
motor33_pwm.duty(0)
sleep(5)
motor26_pwm.duty(1023) Z2E—R 0%
motor33_pwm.duty(1023)

RE 2 Y —IE—YZENT

servo27 = PWM.new(27, ch=3) } FHAE ABIEITFTS)
servo27.freq(80)

servo27.duty(50) 0 ElC
=l

fHAE (1E7Z13975)

sleep(1)
servo27.duty(150)9( gE|C
sleep(1)

servo27.duty(50) 0 I

®E 3 o1 bEUTDEDHER

lux35 = ADC.new(35, ADC::ATTEN_11DB, ADC::WIDTH_12BIT)

lux2 = ADC.new(2, ADC::ATTEN_11DB, ADC::WIDTH_12BIT)

loop do = =
outs( lux35.rawread ) #ERE (E7Z171T3)
puts( lux2.rawread )
sleep(1)

end
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